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complex number 1s given by z =

1—(1-1)?

8. What 1s the modulus of z? [2019-1]

(a) 4 (b) 2

1
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9. What 1s the principal argument of z? [2019-1]
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. Which one of the following 1s correct in respect of the cube

roots of unity? [2018-11]
(a) They are collinear

(b) They lie on a circle of radius /3

(v; Theyform an equilateral triangle
(d) None of the above




The number of non-zero integral solutions of the equation
11 —21]*=5"1s [2018-1]
(a) Zero (No solution) (b) One

(d) Three




If oo and B are different complex numbers with |o| = 1, then

what 1s IOC_;[:; equal to? [2018-1]
(@) B (b) 2
(cy 1 (d) 0

=
(,.



The number of roots of the equation z* =2z is  [2017-1]
(@) 2 (b) 3
(¢) 4 (d) zero




If|z+5]|< 3, then the maximum value of | z+ 1|1s [2017-1]

(@ 0 (b) 4




Let z be a complex number satisfying [2016-1]

zZ—4 1 and Z
z—8 Z—2

80. What s |z| equal to?
(i) 6
(¢) 18

81. Whatis 222 equal to?
Z+6

(@) 3
(¢)




[f Re( - ; D = (0, where z=x+1y1s a complex number, then /
Z
which one of the following 1s correct? [2016-11]

@) z=1+i (b) |z| =2
€ z=1-i (@) |z| =1
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If z = \/?_’: : ! }then what 1s the
2 2)

\
imaginary part of z equai to" [2016-11]

(@) 0

J3

(c) >




Let z,, z, and z, be non-zero complex numbers satisfying 7° = iz,

where | = \/—1. [2016-1]
78. Whatis z; + z, + z, equal to?

(@) 1 (b) -

(cj 0 (d) 1

79. Consider the following statements:
. z,z,zy1s purely im_aginary_
2. 212yt Zyz3+ 237115 purely _real.
Which of the above statements 1s/are correct?
(@) 1only (b) 2only
(¢) Both 1and?2 (d) Neither 1 nor 2
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(x? — 1) can be factorised as [2015-1]
@ @-DE-o)xt g?)
b G-DEx-0)x—u*)
© (-DiE+o)x+y?)

d) -DiE+to)x-p*)




What is [2015-1]

F | e
sm+z(1—cos]
6 6

T ( n)
sin——1i| 1—cos—
L 6/




If 1, o, ?are the cube roots of unity, then the value

of 1+ w)(1+ o)1+ 0*)1+n°) is [2015-1]

(@) -1 (b) 0
cr 1







Let z = x + iy Where x, y are real variables i =~/—1. If

2z—1|=|z—2|, then the point z describes : [2014-1]

A circle (b) An ellipse
A hyperbola (d) A parabola













































































































